2019-04-10

OpenCV& O| &gt Segmentation

CHAl &

’J‘QL



2019-04-10

= Intro

= \Watershed

= GMMs

= Result

’-Eﬁ



2019-04-10

Intro

- 2fA 2 7H
KIGAM #3720an7e

- Dt o] =X




2019-04-10
Watershed

Watershed Watershed
Line Line

Local
Minimum
Minimum Local
Minimum
7127 7|8t I ™HE
- Watershed?| &5

T4 A= EoM FH S0] At

T4 20| oM B0 0| =HEE|

o 1

ot 2o AlFo| w2t Ch=L,

Ct HIAl
OO o™

5L, Bregpn Syetem Relbormtany



-04-10

2019

%0

pal

Br

8o el
_AI_._ Y

N I
10 XI'RO
00 jo1d KO
© o410/
ojn 8r ar
~N3 80 80
N KH
T~ RO

A
T

o X8

= goe o
o]
o

- 87

- OpenCV2e| Watersh
J

e
D
R
<D
g
=

5N
©
| -
| -
<
.
-
o
i)
>
O
)
-
o
c
<5}
(@)
©
£
>
©
| -
| -
<C
+—
-
(@
o
-
o
(¢B)
e
(7))
| -
(¢D)
+
©
=
>
?

L Seed(Marker)

= 3¢

#

L,

- Seed B&(32-bit 1-channel Imaeg)
=

e
St

Rough

LQ_I-, ImagelSystempltaboratory;




2019-04-10

e
D
R
<D
g
=

5N
©
| -
| -
<
.
-
o
i)
>
O
)
-
o
c
<5}
(@)
©
£
>
©
| -
| -
<
+—
-
(@
o
-
o
(¢B)
e
(7))
| -
(¢D)
+
©
=
>
?

- Watershed Z1}

—

5L, Bregpn Syetem Relbormtany



2019-04-10

Watershed

-Problem

Test set #1 Test set #2

L, Tirmregre Syt Relaretasy




-04-10

2019

-Gaussian Mixture Models

ol SEf

H
~
o
=}
=
IH
TH
=
%0
i}
5}

H Channel S|AE 12

5L Broergre Sgnan




M [—>P(a)j)=05j
P(X|9)=Z_:P(X|w,-)P(w,-)

exp[—Ei:lgz—

20'j

1
p(Xla)j) = \/ZG
j

0={{o Ha- B
o={{u 1o B

- 271 R X (log-likelihood)
N > P@, 1%,)%
E=->logp(x,10) < &=
n-L > P(@;1%,)

n=1

N 2
, Zp(a)jlxn) Xn_lujH
=1

2019-04-10

j=

o) ="
D P(o;|%,)
n=1

_ p(X, | @), 1 N
T p(x,16) _ “1=EZ;,P(G’J-|X”)

’-Eﬁ

P(a)j | Xn)




2019-04-10

p(x10) =2 p(x|@;)P(@;)
= I—V (1)j9-| a)lk-% A

;2| 40| 2 BF(a; — G0N Sl 57| &

-
W] TH_result

A .‘_‘*- :

L Channel S|AE 134

Uy, Brvegr Syetam Rethomatany




2019-04-10

Result

—_
|§| 1th Channel Histogram

5L, Bregpn Syetem Relbormtany




2019-04-10

Result

-Test#2

8| result input

5L, Bregpn Syetem Relbormtany




2019-04-10

Result

ISystemiiZaboratory;




2019-04-10

Result

o — - Y
% | 1th Channel Hist [

ImagelSystemiltabors




2019-04-10

’-@L




